Sections 5.4 & 5.5 Additional Practice (for homeworkl)

Here are all the identities I will give you on the test:

™ 4 I
Reciprocal Identities Quotient Identities Co-function Identities
sinu=—— cosu= tanu= _ sinu _cosu sinl T 1= cosu
cscu secu cotu tanu—cosu cotu-smu y) 5
cscu=——  secus= cotu= T .
sinu cosu tanu cos ‘E“U =sinu
v,
yis
tanj ——u |=cotu
) 2
Pythagorean ldentities
sinu+cosu=1 1+tan*u=sec’u 1+4cot*u=csc’u cot| ——u |=tanu
. J
A seci ——1u |=c¢scu
Odd & Even ldentities
sin(—x)———_sinx COS(MX)=COSX tan(wx):mtanx n
csC| ——u |=Ssecu
csc(wx)zmcscx sec(—x):secx cot(—x)z—cotx 2
: | _/
J
N N ™\
Sum & Difference Formulas Double-Angle Formulas Half-Angle Formulas
sin(8+B}:si118cosB+cosesinB sin(ze):?.sin@cose sine—+ 1-cos8
N2
s%n(G—B):sinecosﬁ—cosesinﬁ cos(ze)mcosze—sinze
=2c0s?6—1 cos? =+ [1Fcos®
cos(E)-I-B)_——_cos@cosﬁ—sinesinﬁ =1—-2sin’6 2
50 tan@_lncose_ sin®
COS(G—B)“—“COS@COSB-I—SIH@SH!B tan(2e)= ’can7 5" g Itcos0
I—tan" 6 Y Y
\. J
tan 9+ tan
tan(@-&—B):Wﬁ
1-tan@tanf
tan@—tan
an{o- ) 20008
1+tanBtanf3
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Sections 5.4 & 5.5 Additional Practice {for homework!) /
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Using any of the above formulas, Find the exact value of the following (show your work):
1 sl ’ﬁm 2. c0s255° = (p}(Z]D + 95 3
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3, tanllg—zn :1’&»,()_%’)) “f&‘ﬂ(ig‘) .f’%)_ 4. tan67.5° :ﬁmﬁg
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5. cos~5-- _—~Ub> 7; @bé%m"‘f}§ 6. tan105° = e Z-
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7. There is no formula given for the cotangerit of a sum or difference. How could you find the

exact value of cot15°7 ﬁh e ﬁh jz‘;
+f = Eink (ml%m % Foimic? = Tanlug=i) = Wr“f’a;‘:{ﬁ%w%@
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Sections 5.4 & 5.5 Additional Practice (for homework!)

8. Find the values of the following, given tanp—% secq——\/~ p&qinQlll

W =

—

= , e
sin2g= "L s \C'Dév(g tangz 5;%3*&} :lwrgy |
0 - —1
e | ¢ e
=2(% )% ) &

cos(p+q (%fﬁ%-@gé '. sin(p—CI)= 3 (Qﬁa% @YMW%
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9. Which expressions are equal to sin15°? (There may be more than one correct choice)

A. sm45°cos30°+cos45°s1n30° M§J§LQ%$I°COSSOO—COS4~5°SIH30°)
. =5inTY o —
/C sm60°cos45°—cos60 m D. cos60“cos45°—sin60°sin45° - U?f:-)ob

P ——

Precalculus CP 1 Page 8 of 10




Sections 5.4 & 5.5 Additional Practice (for homework!)
10. Simplify the following to one trig expression using any of the formulas:

sin3xcos2x+cos3xsin2x = ﬁih L’b;&%”@"? = §3"ﬂ 5)(

c0s37°c0s22°—sin37°sin22° = (05 (3? 4-»;;‘&) = (A5 51

o

sin10°cos5°+cos10°sin5® = DI >

tanSx—tan4x = . ‘\'c’?\pi (577\ - \7})@) o= ‘{w‘%‘\"? A

1+tan5Sxtandx

cosbxcosx—sin5xsinx =05 é)f}’&

i
0s15°c0s75°—sin15°sin75°  — €0 7

cos4dxcos3x+sindxsin3dx = 00§)4

.

sinZxcosx—sinxcos2x = 2N ><
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Sections 5.4 & 5.5 Additional Practice (for homework!)

Find the solutions in the interval [0,275) (think back to section 5.3)

11. sin3xcos2x+cos3xsin2x=1
- 3in
&A% ; w
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N AL =)
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(0,}"’1 >

12. sinZx=sinx
D5in X a5k =SITT A D

Simd Ztosh =1 D *
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13. sinZ2x—cosx=0

\ S A
D80y X (OSK — (e = 0 g
S gﬁ
cos(2simn =1 = 0 Dl
(hsm = LA %_lm |
T SIhA = v
W= 3R ST
(X = B L
\z(w Lz (\é:i.iﬁ/’ /

14 é05252+2~—4-cosx 2c0s*x
[V cst % =1 2008 S A2 wsth = O
ooy v oo ¥ ) =0
(Lo ) Y(zeosx + ] > = 0 .
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